S4 Supporting visualizations for the data analysis
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Supplementary Figure 1. Pearson’s r correlation between the self-assessments. All correlations are significant.
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Supplementary Figure 2. Left: Point plots depicting the mean values and confidence intervals of the survey results. Right:
Violin plots depicting the distribution of the ratings.
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Supplementary Figure 3. Left: Point plots depicting the mean values and confidence intervals of the linguistic
characteristics. Right: Violin plots depicting the distribution of the linguistic characteristics.
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